

Entire Functions That Share Values With Their Derivatives*

Feng Lü[†]

Received 10 September 2010

Abstract

In this paper, we study a uniqueness problem of entire functions that share finite values with their derivatives. We deduce a theorem which generalizes some previous results given by Rebel and Yang [13], Jank, Mues and Volkmann [7] and Chang and Fang [3].

1 Introduction

Let f and g be two non-constant entire functions, and let a, b be two finite complex numbers. If $g(z) - b = 0$ whenever $f(z) - a = 0$, then we denote this condition by $f(z) = a \Rightarrow g(z) = b$. If $f(z) = a \Rightarrow g(z) = a$ and $g(z) = a \Rightarrow f(z) = a$, we denote it by $f(z) = a \Leftrightarrow g(z) = a$ and say that f and g share a IM (ignoring multiplicity). Provided that $f - a$ and $g - a$ have the same zeros with the same multiplicities, we denote it by $f(z) = a \Rrightarrow g(z) = a$ and say that f and g share a CM (counting multiplicity). If $f(z) = a \Rightarrow g(z) = b$ and the multiplicity of the zero z of $g - b$ is greater than or equal to that of the zero z of $f - a$, then we denote this condition by $f(z) - a = 0 \rightarrow g(z) - b = 0$. In what follows, we assume that the reader is familiar with the basic notation and results in the Nevanlinna value distribution theory, as found in [6, 16].

The subject on sharing values between two meromorphic functions was studied for almost 80 years. Meanwhile, a number of outstanding results have been obtained (see [8, 9, 18]).

In 1977, Rubel and Yang [13] first studied the problem of sharing values between entire functions and their derivatives. They proved that if a non-constant entire function f and its first derivative f' share two distinct finite numbers a, b CM, then $f = f'$. Since then, shared value problems, have been studied by many authors and a number of profound results have been obtained (see [1, 11, 15]).

In 1986, Jank et al.[7] studied similar problems and proved the following results.

THEOREM A. Let f be a non-constant entire function, and let a be a non-zero finite constant. If f, f' and f'' share the value a CM, then $f = f'$.

*Mathematics Subject Classifications: 30D35, 30D45.

[†]Department of Mathematics, China University of Petroleum, Dongying, Shandong, 257061, P. R. China.

THEOREM B. Let f be a non-constant entire function, and let a be a non-zero finite constant. If $f = a \Leftrightarrow f' = a$, $f = a \rightarrow f'' = a$, then $f = f'$.

In 2002, Chang and Fang [3] improved Theorem B and obtained the following result.

THEOREM C. Let f be a non-constant entire function, let a, c be two non-zero constants. If $f(z) = a \Rightarrow f'(z) = a$, $f'(z) = a \Rightarrow f''(z) = c$, then $f(z) = Ae^{\frac{cz}{a}} + \frac{ac-a^2}{c}$ or $f(z) = Ae^{\frac{cz}{a}} + a$, where A is a non-zero constant.

It is natural to ask what will happen if f'' is replaced by the k -th derivative $f^{(k)}$? It follows from the hypothesis of Theorem C that $f' - a$ has simple zeros only. However, if f'' is replaced by the k -th derivative $f^{(k)}$ ($k \geq 3$) in Theorem C, we cannot deduce the property that $f' - a$ only has simple zeros. Thus it does not seem that we can solve this problem by similar methods. In this work, we use the theory of normal family to deal with the problem and derive the following result, which is an improvement of Theorem C.

THEOREM 1. Let f be a non-constant entire function, let a, c be two non-zero constants. If $f(z) = a \Rightarrow f'(z) = a$, $f'(z) = a \Rightarrow f'''(z) = c$, then $f(z) = Ae^{\lambda z} + a - \frac{a}{\lambda}$ or $f(z) = Ae^{\lambda z} + a$, where A is a non-zero constant and $\lambda^2 = \frac{c}{a}$.

REMARK 1. Recently, Chang and Fang [4] used a different way to solve the problem. They replaced the assumption $f'(z) = a \Rightarrow f'''(z) = c$ by $f'(z) = a \Rightarrow f^{(k)} = a$ and deduced the similar conclusion. But, their method are complicated. In contrast, our method is simple and easier to understand. This is the point of this work.

REMARK 2. If the hypothesis " $f'(z) = a \Rightarrow f'''(z) = c$ " is replaced by " $f(z) = a \Rightarrow f'''(z) = c$ ", the conclusion is not generally true, we give the following negative example.

EXAMPLE. Let $f(z) = 1 + 6e^{3z} + 2e^{3z/2}$. Then $f'(z) = 18e^{3z} + 3e^{3z/2}$ and $f'''(z) = 162e^{3z} + (27/4)e^{3z/2}$. One can easily check that $f(z) = 1 \Rightarrow f'(z) = 1$ and $f(z) = 1 \Rightarrow f'''(z) = 63/4$. But f does not satisfy the conclusion of Theorem 1.

2 Some Lemmas

We state several preparatory Lemmas.

LEMMA 1. [2] Let f be an entire function, and let M be a positive number. If $f^\#(z) \leq M$ for any $z \in C$, then f is of exponential type.

LEMMA 2. [14] Let \mathcal{F} be a family of meromorphic functions in domain D , then \mathcal{F} is normal in D if and only if the spherical derivatives of functions $f \in \mathcal{F}$ are uniformly bounded on compact subsets of D .

LEMMA 3. [17] Let f be a non-constant entire function of finite order, and let a be a non-zero constant. If f and f' share a CM, then

$$\frac{f' - a}{f - a} = c,$$

for some non-zero constant c .

LEMMA 4. Let f be a transcendental entire function with $\rho(f) \leq 1$, and let a, c be two non-zero constants. If $f(z) = 0 \Rightarrow f'(z) = a, f'(z) = a \Rightarrow f'''(z) = c$ and $N\left(r, \frac{f}{f'-a}\right) = S(r, f)$, then $f(z) = Ae^{\lambda z} - \frac{a}{\lambda}$, where A is a constant and $\lambda^2 = \frac{c}{a}$.

PROOF. Suppose that 0 is a Picard value of f . Noting that $\rho(f) \leq 1$, we can set $f(z) = Ae^{\lambda z}$, where A, λ are two non-zero constants. Thus

$$S(r, f) = N\left(r, \frac{f}{f'-a}\right) = N\left(r, \frac{1}{f'-a}\right) = N\left(r, \frac{1}{Ae^{\lambda z} - a}\right) = T(r, f) + S(r, f),$$

a contradiction.

In the following, we assume that 0 is not a Picard value of f . It follows from $f(z) = 0 \Rightarrow f'(z) = a$ that f only has simple zeros. Let

$$\varphi = \frac{af''' - cf'}{f}. \tag{1}$$

It is obvious that φ is an entire function. By the lemma of logarithmic derivative, we have

$$T(r, \varphi) = m(r, \varphi) = S(r, f).$$

We now distinguish the following two cases.

Case 1. $\varphi = 0$.

Then, $af''' = cf'$. By solving the differential equation, we obtain

$$f(z) = Ae^{\lambda z} + Be^{-\lambda z} + C_0, \tag{2}$$

where A, B, C_0 are constants.

If $AB \neq 0$, combining $f(z) = 0 \Rightarrow f'(z) = a$ and (2) yields that $f(z) = 0 \Rightarrow f'(z) = a$. Then, it follows from Lemma 2 that $\frac{f'-a}{f} = c_1$, where c_1 is a constant. Furthermore, with the above differential equation, we deduce that $f(z) = Ae^{\lambda z} - \frac{a}{\lambda}$, which contradicts (2).

If $AB = 0$. Without loss of generality, we assume $A \neq 0$. Then, it is easy to deduce that $f(z) = Ae^{\lambda z} - \frac{a}{\lambda}$ and $\lambda^2 = \frac{c}{a}$.

Case 2. $\varphi \neq 0$.

Rewriting (1) as $f = \frac{af''' - cf'}{\varphi}$. A routine calculation leads to

$$\left[1 + c\left(\frac{1}{\varphi}\right)'\right]f' = a\left(\frac{1}{\varphi}\right)'f''' - c\frac{1}{\varphi}f'' + a\frac{1}{\varphi}f^{(4)}. \tag{3}$$

Since φ is an entire function, then $1 + c\left(\frac{1}{\varphi}\right)' \neq 0$. From (3), we derive that $m\left(r, \frac{f'}{f'-a}\right) = S(r, f)$. Furthermore, we have

$$m\left(r, \frac{1}{f'-a}\right) \leq m\left(r, \frac{a}{f'-a}\right) + O(1) \leq m\left(r, \frac{f'}{f'-a} - 1\right) + O(1) = S(r, f) \tag{4}$$

and

$$\begin{aligned} T(r, f) &= m(r, f) = m\left(r, \frac{af''' - cf'}{\varphi}\right) \leq m(r, f') + S(r, f) \\ &\leq T(r, f') + S(r, f) \leq T(r, f) + S(r, f), \end{aligned}$$

which implies that

$$T(r, f) = T(r, f') + S(r, f).$$

The fact $N\left(r, \frac{f}{f'-a}\right) = S(r, f)$ leads to

$$N\left(r, \frac{1}{f}\right) = N\left(r, \frac{1}{f'-a}\right) + S(r, f).$$

Thus,

$$\begin{aligned} m\left(r, \frac{1}{f}\right) &= T(r, f) - N\left(r, \frac{1}{f}\right) + O(1) = T\left(r, \frac{1}{f'-a}\right) - N\left(r, \frac{1}{f}\right) + O(1) \\ &= m\left(r, \frac{1}{f'-a}\right) + N\left(r, \frac{1}{f'-a}\right) - N\left(r, \frac{1}{f}\right) + O(1) = S(r, f). \end{aligned}$$

Let

$$\mu = \frac{f' - a}{f}. \quad (5)$$

Obviously, μ is an entire function. Noting that f is transcendental, then we have $\mu \neq 0$. With (5), it is easy to derive that

$$T(r, \mu) = m(r, \mu) \leq m\left(r, \frac{a}{f}\right) + S(r, f) \leq S(r, f).$$

Rewriting (5) as $f' = f\mu + a$ and differentiating it twice yields

$$f''' = f(\mu^3 + 3\mu\mu' + \mu'') + a(\mu^2 + 2\mu').$$

Combining $f(z) = 0 \Rightarrow f'''(z) = c$ and $m\left(r, \frac{1}{f}\right) = S(r, f)$ leads to $a(\mu^2 + 2\mu') = c$. Clearly, $c - 2a\mu' \neq 0$. If μ is not a constant, then $2T(r, \mu) = T(r, c - 2a\mu') \leq T(r, \mu) + S(r, \mu)$, which indicates $T(r, \mu) = S(r, \mu)$, a contradiction. Hence μ must be a constant. By (5) and our assumption, we can easily deduce that $f(z) = Ae^{\lambda z} - \frac{a}{\lambda}$ and $\lambda^2 = \frac{c}{a}$. Putting the form of f into (1) yields $\varphi = 0$, a contradiction. This completes the proof of this lemma.

For our proof, we also need the following result. It can be easily obtained from [10, Theorem 1].

LEMMA 5. Let \mathcal{F} be a family of holomorphic functions in a domain D , and let a, c be two non-zero constants. If for every $f \in \mathcal{F}$, $f(z) = 0 \Rightarrow f'(z) = a$ and $f'(z) = a \Rightarrow f''' = c$, then \mathcal{F} is normal in D .

LEMMA 6. [18] Let f_1 and f_2 be two non-constant meromorphic functions satisfying

$$\overline{N}(r, f_i) + \overline{N}\left(r, \frac{1}{f_i}\right) = S(r), \quad i = 1, 2.$$

Then either

$$N_0(r, 1; f_1, f_2) = S(r)$$

or there exist two integers s, t ($|s| + |t| > 0$) such that

$$f_1^s f_2^t = 1,$$

where $N_0(r, 1; f_1, f_2)$ denotes the reduced counting function of f_1 and f_2 related to the common 1-point and $T(r) = T(r, f_1) + T(r, f_2)$, $S(r) = o(T(r))$ ($r \rightarrow \infty, r \notin E$) only depending on f_1 and f_2 .

LEMMA 7. [12], [5, Theorem 4.1] Let f be an entire function of order at most 1 and k be a positive integer, then

$$m\left(r, \frac{f^{(k)}}{f}\right) = o(\log r), \quad \text{as } r \rightarrow \infty.$$

3 Proof of Theorem 1

From the assumption, we derive that f is a transcendental entire function. Now, let us show that f is of exponential type. Set $g = f - a$. Then

$$g(z) = 0 \Rightarrow g'(z) = a, \quad g'(z) = a \Rightarrow g'''(z) = c.$$

Set $\mathcal{F} = \{g(z + w) : w \in C\}$. Then \mathcal{F} is a family of holomorphic functions on the unit disc Δ . For any function $F(z) = g(z + w)$, we have

$$F(z) = 0 \Rightarrow F'(z) = a, \quad F'(z) = a \Rightarrow F'''(z) = c.$$

It follows from Lemma 5 that \mathcal{F} is normal in Δ . Then, by Lemma 2, there exists a positive number M satisfying $g^\sharp(z) \leq M$ for all $z \in C$. Furthermore, with Lemma 1, we deduce that g is of exponential type. So, $\rho(f) = \rho(g) \leq 1$. We also have

$$f(z) = a \Rightarrow f'(z) = a, \quad f'(z) = a \Rightarrow f'''(z) = c. \tag{6}$$

Suppose that a is a Picard value of f , then $f(z) = Ae^{\lambda z} + a$, where A, λ are two non-zero constants. From (6) and the form of f , it is easy to obtain that $\lambda^2 = \frac{c}{a}$.

In the following, we assume that a is not a Picard value of f .

Let

$$\varphi = \frac{af''' - cf'}{f - a}. \tag{7}$$

By (6), we derive that φ is an entire function. From Lemma 7, we have

$$\begin{aligned} T(r, \varphi) &= m(r, \varphi) = m\left(r, \frac{af''' - cf'}{f - a}\right) \\ &\leq m\left(r, \frac{af'''}{f - a}\right) + m\left(r, \frac{cf'}{f - a}\right) + \log 2 = o(\log r), \end{aligned}$$

which implies that φ reduces to a constant. Suppose $\varphi = c_2$.

We now consider into two cases.

Case 1. $c_2 \neq 0$.

We first analyze the property of the equation

$$f''' - \frac{c}{a}f' = \frac{c_2}{a}(f - a). \quad (8)$$

Noting that $g = f - a$, then

$$g''' - \frac{c}{a}g' = \frac{c_2}{a}g. \quad (9)$$

By (6) and (9), it is easy to deduce

$$g = 0 \Leftrightarrow g' = a \Rightarrow g''' = c. \quad (10)$$

We divide into two subcases as follows.

Subcase 1.1. $N_{(2)}(r, \frac{1}{g'-a}) = S(r, g)$. Then

$$N(r, \frac{g}{g'-a}) \leq N_{(2)}(r, \frac{1}{g'-a}) = S(r, g). \quad (11)$$

By Lemma 4, we get $f(z) = g(z) + a = Ae^{\lambda z} + a - \frac{a}{\lambda}$, where A is a non-zero constant and $\lambda^2 = \frac{c}{a}$. Thus $\varphi = c_2 = 0$, which is a contradiction.

Subcase 1.2. $N_{(2)}(r, \frac{1}{g'-a}) \neq S(r, g)$.

It implies $g' - a$ has infinitely many multiple zeros. Again, we divide into two subcases.

Subcase 1.2.1. The equation $\lambda^3 - \frac{c}{a}\lambda - \frac{c_2}{a} = 0$ has a multiple zero.

Then, we deduce the multiplicity of the zero is two. Thus,

$$g(z) = (C_{11} + C_{12}z)e^{\lambda_1 z} + C_2 e^{\lambda_2 z}. \quad (12)$$

Suppose $C_{12} \neq 0$, then

$$g''(z) = (2\lambda_1 C_{12} + C_{11}\lambda_1^2 + C_{12}\lambda_1^2 z)e^{\lambda_1 z} + C_2 \lambda_2^2 e^{\lambda_2 z}. \quad (13)$$

Let z_n be the multiple zero of $g' - a$. Then $g(z_n) = 0$ and $g''(z_n) = 0$. Combining (12) and (13) yields

$$2\lambda_1 C_{12} + C_{11}(\lambda_1^2 - \lambda_2^2) + C_{12}(\lambda_1^2 - \lambda_2^2)z_n = 0.$$

In view of $z_n \rightarrow \infty$, we derive $\lambda_1^2 = \lambda_2^2$ and $C_{12} = 0$, this is a contradiction.

Now, we assume $C_{12} = 0$. Then

$$g(z) = C_{11}e^{\lambda_1 z} + C_2 e^{\lambda_2 z}.$$

If $C_{11}C_2 \neq 0$, similarly as above, we conclude that $\lambda_1 = -\lambda_2$. So,

$$g(z) = C_{11}e^{\lambda_1 z} + C_2 e^{-\lambda_1 z}. \quad (14)$$

From (10) and (14), we derive that

$$g(z) = 0 \Leftrightarrow g'(z) = a, \quad (15)$$

which implies that $N_{(2)}(r, \frac{1}{g'-a}) = 0$, a contradiction.

If $C_{11}C_2 = 0$, obviously, this is absurd.

Subcase 1.2.2. The equation $\lambda^3 - \frac{c}{a}\lambda - \frac{c_2}{a} = 0$ only has simple zeros.

From (9), we have

$$g(z) = c_1 e^{\lambda_1 z} + c_2 e^{\lambda_2 z} + c_3 e^{\lambda_3 z}. \tag{16}$$

If $c_1 c_2 c_3 = 0$, similarly as above, we can get a contradiction.

Suppose $c_1 c_2 c_3 \neq 0$. Let z_n be the multiple zero of $g' - a$. Then $g(z_n) = 0$, $g'(z_n) = a$ and $g''(z_n) = 0$. With (16), it is not difficult to deduce that

$$e^{\lambda_j z_n} = D_j \quad (1 \leq j \leq 3), \tag{17}$$

where $D_j \neq 0$ ($1 \leq j \leq 3$) are constants. Assume that

$$f_j(z) = e^{\lambda_j z} / D_j \quad (1 \leq j \leq 3). \tag{18}$$

Noting that (18) and the fact that the multiplicity of a -points of g' is 2, we derive that

$$N_{(2)}\left(r, \frac{1}{g' - a}\right) \leq 2N_0(r, 1; f_1, f_2).$$

So

$$N_0(r, 1; f_1, f_2) \neq S(r)$$

and

$$\overline{N}(r, f_i) + \overline{N}\left(r, \frac{1}{f_i}\right) = S(r), \quad i = 1, 2.$$

Thus by Lemma 6, there exist two integers s_1, t_1 ($|s_1| + |t_1| > 0$) such that

$$f_1^{s_1} f_2^{t_1} = 1.$$

Then $\lambda_1 s_1 + \lambda_2 t_1 = 0$, $\lambda_2 = -\frac{s_1}{t_1} \lambda_1$. Similarly, we can deduce that $\lambda_3 = -\frac{s_2}{t_2} \lambda_1$. Let $\lambda_1 = t_1 t_2 \lambda = p_1 \lambda$. Then

$$\lambda_2 = -s_1 t_2 \lambda = p_2 \lambda, \quad \lambda_3 = -s_2 t_1 \lambda = p_3 \lambda.$$

From the equation

$$\lambda^3 - \frac{c}{a}\lambda - \frac{c_2}{a} = 0, \tag{19}$$

we derive

$$p_1 \lambda + p_2 \lambda + p_3 \lambda = \lambda_1 + \lambda_2 + \lambda_3 = 0,$$

which implies that

$$p_1 + p_2 + p_3 = 0, \tag{20}$$

where p_1, p_2, p_3 are three integers.

By (20), we know there exist a positive integer and a negative integer in $\{p_1, p_2, p_3\}$. Without loss of generality, we assume $p_1 > 0$ and $p_2 < 0$. Noting that $p_2 \neq p_3$, we suppose $p_3 > p_2$.

Rewriting (16) as

$$g(z) = c_1 e^{p_1 \lambda z} + c_2 e^{p_2 \lambda z} + c_3 e^{p_3 \lambda z}. \quad (21)$$

Set

$$P(z) = c_1 z^{p_1} + c_2 z^{p_2} + c_3 z^{p_3} \quad (22)$$

and

$$Q(z) = \lambda [c_1 p_1 z^{p_1} + c_2 p_2 z^{p_2} + c_3 p_3 z^{p_3}]. \quad (23)$$

Then

$$g(z) = P(e^{\lambda z}) \quad \text{and} \quad g'(z) = Q(e^{\lambda z}). \quad (24)$$

From (10), we obtain that $g(z)$ only has simple zeros.

If $p_1 > p_3$, from (22) we have P has m simple roots and $m = p_1 - p_2$. It follows from (23) that $Q - a$ at most has m roots. Then, combining (10) and (24) leads to

$$g = 0 \Rightarrow g' = a,$$

which indicates that $N_{(2)}\left(r, \frac{1}{g'-a}\right) = 0$, a contradiction.

If $p_1 < p_3$, similarly as above, we also deduce a contradiction.

Case 2. $c_2 = 0$.

Then

$$a f''' = c f'.$$

Solving the above differential equation yields

$$f(z) = C_1 e^{\lambda_1 z} + C_2 e^{-\lambda_1 z} + C_0, \quad (25)$$

where C_0 is a constant. We divide into two cases.

Case 2.1. $C_1 C_2 \neq 0$.

With (25) and $f(z) = a \Rightarrow f'(z) = a$, it is not difficult to derive that

$$f(z) = a \Rightarrow f'(z) = a.$$

Thus, we deduce that $f(z) = A e^{\lambda z} + a - \frac{a}{\lambda}$, which contradicts (25).

Case 2.2. $C_1 C_2 = 0$.

Without loss of generality, we suppose $C_2 = 0$. Then, after a simple calculation, we obtain the conclusion of Theorem 1.

Thus we complete the proof of the theorem.

Acknowledgment. The author is grateful to the referee for his (or her) valuable suggestions and comments.

References

- [1] R. Brück, On entire functions which share one value CM with their first derivatives, Result. in Math., 30(1996), 21–24.
- [2] J. Clunie and W. K. Hayman, The spherical derivative of integral and meromorphic functions, Comment. Math. Helv., 40(1966), 117–148.

- [3] J. M. Chang and M. L. Fang, Uniqueness of entire functions and fixed points, *Kodai Math. J.*, 25(2002), 309-320.
- [4] J. M. Chang and M. L. Fang, Normal families and uniqueness of entire functions and their derivatives, *Acta. Mathematica. Sinica.*, (English Series) 23(2007), 973-982.
- [5] J. Heittokangas, R. Korhonen and J. Rättyä, Generalized logarithmic derivative estimates of Gol'dberg-Grinshtein type, *Bull. London Math. Soc.*, 36(2004), 105-114.
- [6] W. Hayman, *Meromorphic Functions*, Clarendon Press, Oxford, 1964.
- [7] G. Jank, E. Mues and L. Volkmann, Meromorphe funktionen, die mit ihrer ersten und Zweiten Ableitung einen endlichen Wert teilen, *Complex Variables*, 6(1986), 51-57.
- [8] I. Lahiri, A question of Gross and weighted sharing of a finite set by meromorphic functions, *Applied. Math. E-Notes.*, 2(2001), 16-21.
- [9] I. Lahiri, Linear differential polynomials sharing three values with weights, *Applied. Math. E-Notes.*, 3(2003), 62-70.
- [10] F. Lü, J. F. Xu and H. X. Yi, Entire functions that share one value with their linear differential polynomials, *J. Math. Anal. Appl.*, 342(2008), 615-628.
- [11] E. Mues and N. Steinmetz, Meromorphe Funktionen, die mit ihrer Ableitung Werte teilen, *Manuscripta. Math.*, 29(1979), 195-206.
- [12] V. Ngoan and I. V. Ostrovskii, The logarithmic derivative of a meromorphic function, *Akad. Nauk. Armjan. SSR. Dokl.*, 41(1965), 272-277 .
- [13] L. A. Rubel and C. C. Yang, Values shared by an entire function and its derivative, *Complex Analysis, Kentucky 1976*, Lecture Notes in Mathematics, Vol 599, pp. 101-103, Springer-Verlag, Berlin, 1977.
- [14] J. Schiff, *Normal Families*, Springer, 1993.
- [15] Y. H. Xiao and X. M. Li, An entire function sharing one small entire function with its derivative, *Applied. Math. E-Notes.*, 8(2008), 238-245.
- [16] H. X. Yi and C. C. Yang, *Uniqueness Theory of Meromorphic Functions*, Kluwer Academic Press, Dordrecht/Boston/London, 2003.
- [17] L. Z. Yang, Further results on entire functions that share one value with their derivatives, *J. Math. Anal. Appl.*, 212(1997), 529-536.
- [18] Q. C. Zhang, Meromorphic functions sharing three values, *Indian J. Pure Appl. Math.*, 30(1999), 667-682.